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PART - I (¥ - 1)

MENTAL ABILITY TEST

Sifes e giEger

1. The age of Shyam is 1/3rd that of his
mother. He is 2 years older than his
sister. If the age of his sister is 8
years then what is the age of his

mother ?
(1) 25 years (2) 60 years

(3) 48 years (4) 30 years

2. A is D's brother. D is B's father. B
and C are sisters. How is A related to
C? '
(1) Son
(2) Grandson
(3) Father
(4) Uncle.
Directions : (Q. No. 3 to 5)
In each question three statements followed
by two conclusions numbered I and II are
given. Decide which of the given conclusions
logically follows the given statement
disregarding commonly known facts. Give

answer.
(1) If only conclusion I follows
(2) If only conclusion II follows
(3) If bothI and II follows

(4) If neither I nor II follows

NTSE(Level-1) Exam. Nov. - 2016

* 213 A 2T F 2 ad F=; 2|
afe 3EF T8 F1 g 8 7 & A 5F

A # g f 2 7
(1) 2579 (2) 60ad
(3) 4874 4) 3074

2. A, D# 9 21D, B far 21 B am
Cama ¥ 3eid 21 A% C A 7
TFTE 7
(1 5=
(2) G
(3) M
(4) =r=r

f@sr : (9 do 3 @ 5)

53% 9% & OF P a7 ar @ P 1
7 11 RY ™ & %9 & &9 999 ¢ 7@
Hiog 5 PE-a1 R ™ Fe R s
F AMEFH T A SFTE FT 2| T & weaa
T4 B ¢ & IR R

(1) 3R Fac Frepd 1 ST &ar &

(2 3R Faw Frepd 11 SFgETer F @

(3) 4% A Frepd I a1 aTgeee # &

@ 3T @ FeEd 19 @ P 1 sgEe

EIGH

P.T.O.
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3. Statements:

All crows are parrots, All parrots

are doves. Some doves are cats.
Conclusions :

I Some cats are crows.

Il Some doves are crows.

4. Statements:

Some desks are mirrors. Some
mirrors are chairs. All chairs are

pens.
Conclusions:
I Some pens are chairs.

11 Some pens are desks.

5. Statemenis:
All glasses are rivers. All rivers
are bottles. All bottles are plates.
Conclusions:
I All plates are rivers.

11 Some bottles are glasses.

Directions: (Q. No.6 &7)

A series of small letters is given which
follow a certain pattern. However some
Jetters are missing from the series. You have
to find out the right set of letters from
alternatives that can be inserted into the
blanks of the series.

6. __aab_a_a ba .
(1) bbaab (2) aaabb
(3) ababa (4) babab

~ NTSE(Level-1) Exam. Nov. - 2016

(4)

8. HYT : |
Hﬁqﬁ%,?ﬂﬂ%lﬂ‘ﬂ’!ﬁﬁﬂa‘mzi
@WW?I

ey
1 g R, B9 R
ilag,scﬁr@rlﬂ%‘c‘rﬁl

4. FYT -

@M,W%I@W;W%
ot FfRFE ¥

ey :

5. FgT .

1 %o ¥, R T
11 %8 3, 3 §1

P, ARdr E1 oaf AR
A 1 gl Set, @E 8

fresy :

1wl ¢ Rar ¥
11 8 aiad, far 21

fder : (997 Ho 691 7)

It aofaren & B ol A wF YEw § .
Y, ot & Pt #9 # %) g8 R Hman
e ¥ W W @ §E g e Ry ™
Rt # & uifen, R R st it oftf &t

o |
6. __aab_a_a ba
(1) bbaab (2) aaabb
(3) ababa (4) babab

v
7 EIM

ey o
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(5) A

7. h_eg_fegh_eghfe_ 7. h_eg_fegh_eghfe_
() gffh (1) gffh
(2) hhegg (2) hhegg
(3) ffgh (3) ffgh
(4) fhg | (4) fhg
8. Find the missing number that 8. ¥« HEAl ;W FC A g FeT B
replaces the question mark. WM 9T 39gF 2l
25 | 49 | 81 25 | 49 | 81
5 7 ? 5 7 ?
15 | 13 | 11 15 | 13 | 11
20 | 20 | 20 20 | 20 | 20
(L 9 (1) 9
@ 3 2 3
(3) 61 : (3) 61
(4) 31 (4) 31
Directions : (Q. No. 9 to 13) R : (797 Ho 9 @ 13)
Five friends A, B, C, D and E are sitting on i B A, B,C,D 71 E w5 39 T 3 ¥
a bench.
A is sitting next to B, A,B % 9y o1 )
C is sitting next to D. . | C,D 3 g/ 1 2
D is not sitting with E. | D,E % §mg =& Jer 2}
E is on the left end of the bench. E¥ & a8 R «w 31 ¥
C is on the second position from the right. Cardt 3R ¥ TR WH W 2
A is on the right of B and E. A, BTIIE 3 Tl @iX B
A and C are sitting together. A T C a9-v ¥ ¥

NTSE(Level-1) Exam. Nov. - 2016 P.T.O.
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A7) ' A

14, Amit said, this girl is the wife of the 14, 9 7 F@ % g5 W= A AT @
grandson of my mother. How is Amit o & o B ST ELi EE"ﬁ q A
related to the girl ? Ty § 7 aE
(1) Father 1) Rer
(2) Grand Father (2) G|
(3) Husband ' (3) dfa
(4) Father in law (4) §gt

15. How many triangle are in the given 15. & T ﬁTFEﬁ‘[ | Bl'ﬂﬁ'ﬁ B dE e
figure ? 2 ?

(1) 16 (1) 16
@ 13 . (2 13
3) 9 _ 3 9
4 7 ‘ 4 7

16. In the given dice which colour is 16. Rt @ § &} 1 3 Rudg ,ﬁﬂ—m.

opposite to green ? ' ' WMe?

Bla Viole Creen\,  [NBlack '

E | Violet E| Red Blue | Blue : I GG T EG
() Biack - . (1) BT '
(2) Blue | L (2) - ;
3) Violet R (@ ¥
(4) Orange U ‘ (4) wa

NTSE(Level-1) Exam. Nov. — 2016 : P T.O,
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(8)

17. Which diagram represents language, 17. P-4 g A, gt @ Ry 5
English and Hindi ? ' qefifq &l & 7
QD 000 D 000
(1) (2) 3) @ () 2 (3 4)
18. In a row of 16 girls, when Hema was 18. 16 @SR # o G F & o
shifted by two place towards the left o @ ardl d @ e e F
she became 7th from the left and %ﬁtaﬂﬂﬁﬁﬂmﬂam‘fﬂm
what was her earlier position from 3 e 7@ W RR & P H WH W
the right end ? ot ?
(1) Tth @ 8th o 7@ 2 &
(3) 9th (4) 10th @ 9 @) 104
19. If day before yesterday was Friday, 19. IR 4} g I q @ RT @ PRAN
what will be the third day after the q & WE 3 IR deq RF aF-a
day after tomorrow ? g ?
(1) Thursday (1) gewfRER
(2) Friday @ AR
(3) Saturday (3) 9@
(4) Sunday 4) FEEr
20. In the given dice detect the number 20. Ru T y@ ¥ gyqaEw f%ﬁ:[ (?) 3 oM
that should replace the question mark - W -4 g&r I 3l ?
?: ' )
N3N N3N
o) 9] K ¢ ‘olRolala
(1 1 @ 5 M1 @5
(3 6 4 3 (3) 6 @4 3

NTSE(Level-1) Exam. Nov. - 2016
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21.

Figure (X) is embedded in one of the
given four figures. Trace out the

correct alternative,

>/ || 2| % =2 X

X (1) @. @& @

If 'MERCURY' is written as
'FGAECAB' in a code then how would
'CURE' be written in the same code ?

(1) GCFI
(2) ECAB
(3) ECAG

(4) EAGC

Which one of the answer figure would

occupy the next position in the:

problem figure, if they continue in the

same order ?

Problem Figures :
X _ X X ?
Answer Figures :
X - X X —J1X
(1) (2 @) 4

NTSE(Level-1) Exam. Nov. - 2016

(9)

21.

22,

23.

A

fE (X) Ru o o = Reit # @ Rl
W A o wiid frar mr B oftm
feeq Bifew |
> |2

X) (1)

*

2

>y

(6)

X

(4)

g% fpdi Widfas W ¥ 'MERCURY'
® 'FGAECAB' fo@r «im & o st
a1 ¥ 'CURE' 59 w1 fora@r smom ?

(1) GCFI
(2) ECAB
3) ECAG
(4) EAGC
MR g A g HW W Sed At

I FH W I ARt ¥ A PR
HHR W aE ?

X x| X ?
IU St
X |l=Xx X -] X
- @ ® (4)
P.T.O.
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24. One segment of the given
design/pattern is missing. Select the
alternative which will complete the
design when placed on the missing area.

»m» © ©® @

26. If ' stand for division, '+ for

multiplication, '+' for subtraction and
'x' *for addition, which one of the
following equation is correct ?

(1) 6+20x12+7-1=170
(2) 6+20-12+7x1%=62
(3) 6-20+12x7+1=5T7
(4) 6+20-12+7-1=238

Directions : (Q. No. 26 & 27)

Find the missing number/numbers in the
series.

26. 2,665,759 12, 53,27
(1) 15, 42 2) 17, 45
(3) 17, 47 (4) 18, 48
27. 5255, 5306, 7, 5408, 5459
(1) 5057 (2) 5357
(3) 5257 (4) 5157

NTSE(Level-1) Exam. Nov. - 2016

(10)

i E—— e i, o]

24. ﬁqmq‘iﬁ‘/mzﬁwwﬁﬁ
3 og R @ g I TI TH g

(1 @ @ ® (4)

| 25. IR '~ A A WO, +H WM, R qm

' ¥ s & o Frefefad § @ 9
|1 g G 8 ?

() 6+20x12+7-1=170
(2) 6+20-12+7x1=62
() 6-20+12x7+1=57
() 6+20-12+7-1=38

PR : (957 Ho 26 e 27)

Rt m dem @& # '.'aﬂi(
i, Ja  HE /e

26. 2,65,7,59, 12, 53,7, 7

(1) 15, 42 2 17, 45
(3) 17, 47 (4) 18,48
27. 5256, 5306, ?, 5408, 5459
(1) 5057 (2 5357
(3) 5257

(4) 5157

1!
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28. If
04+43=2
60+51=10
Then 62+ 72="7
(1) 30 (2) 18
(3) 20 4) 9
29. Choose the correct mirror image of
-the Figure (X) from four alternatives
given along with it. The mirror has
been represented by MN.
EM
) N
L (R ] L1/
(1) (2) (3) 4)
30. At 12:30 the hour hand of a clock

faces north and thé minute hand

faces south. At 2:45 the minutes hand
will be in which direction ?

(1) North-West
(2) West
(3) South-East e r G

(4) East

NTSE(Level-1) Exam. Nov. - 2016

(1)

28..

29.
-3 we Re o oER Reed § @

30.

qﬁ- ; o

54+43=2

60+51=10

q 624 72=7
(1) 30
(3) 20

(2) 18
4) 9

TR (0 B a0 ¥ Ty | AY R

IW Bl O F @ MN EX
yefifa frar mr 2

EM
) N

I.AL JAJ I.J .IJ
(1) (2) @) (4)

ai% 12:30 &9 2 # gE Iuv Ramw @
A Bere 1 gt < R ) o
?’ffﬂZ:flSaﬁﬁﬂfﬁgﬁﬁfﬂﬁ?ﬂ.ﬁ-
& 8t ?

(1) J9-9=q

RPN 1117 ¢
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31. Find the missing number :

20160 4
? 4

480 8
96 24

(1) 860 (2) 1140

(3) 2880 " (4) 3240

Directions : (Q. No. 32 to 34)
If a + b means a is sister of b.
a—b means a is brother of b.
a x b means a is daughter of b.

a + b means a is mother of b.

32, Which of the following relationship
shows that 1 and n are wife and
husband ?

(1) 1+mxn
(2) 1-mxn
(3) l+mxn
(4) l1+m—n

83. How many females does this
relationship shows ?

l+m-n+to-pxq
(1) 2
(2 3
3) 4
(4) can't be determind

. NTSE(Level-1) Exam. Nov. - 2016

g1. ga &eA A e
l 20160| 4 ﬂ
4807 24“

(2) 1140

(1) 860

(3) 2880 (4) 3240

Frier : (3 wo 829 34)
Qﬁa+bﬂﬂﬁa.bﬁﬂﬁ%
a—bﬁ[ﬂﬁa,b'ﬂﬁ%
axhiﬁlﬂﬁa,bﬁgﬁ%
a+bﬂﬂﬂ?§a,bﬁﬂm%

32. Prefifes T=dt § ¥ AF-A w
YHe T ¢ f6 1 9 n 9 O ¥

(1) 1+mxn
(2 1-mxn
B 1+mxn
4 l+m-n

33. T WY ¥ Rl wfvemt ¥ 2

l+m-n+o0-pxq -
(1) 2

2 3
(3) 4

) W& S T R o w
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34. The relationship p + q — r x 8 + ¢

shows that :

(1) p, q,r, sall are children of t.

(2) p,q.r, tall are children of s,

(3) p, q, rall are children of t and s,
(4)r P, q, r, s, t all are siblings.

35. If 'REEXAMINATION' is written as
'EXAMINATIONER' how can

'REFORMER' be written in that
code ?

(1) REFORMRE
(2) REFROMER
(3) FORREMER
(4) FORMERER

Directions : (Q. No. 36 to 39)

In each of the following questions, which one
of the answer figure would occupy the next
position in the problem figure. If they

continue in the same order.

36. Problem Figures:

[ ] .‘. [ ] L] -
2 e @ ases [ 11X 1] 488
Answer Figures:
ssentd||([e @ o]||[0een N
L B e & (11117}

1) (2) 3) (4)

NTSE(Level-1) Exam. Nov. - 2016

A

84, p+q—r x s+t TFY 5F &
&

(1) pgr,s @t a=d &)
2 p,grtdlsda= g
@) por@iitdmsd g ¥
4 p,q 1,8t G ¢ ToT )

35. aRk fFdl Fe ¥ 'REEXAMINATION'
# 'EXAMINATIONER' @l «ar &
i 3@ @ ¥ 'REFORMER' 3 33
feran s ?

(1) REFORMRE
(2) REFROMER
(3) FORREMER
(4) FORMERER

Fder : (947 Ho 36 @ 39)

T S 7 AR qE R e w ¥ wem

R W OW I AR § A -
gfr M qoh ?

36. §AE AFRAT :
[ e @ T ®
o e o|/[eecsl | [seved] || [seaven
I SHfAr :
oeneee||([e e o]|([eea @ 0
s 80 L !....

nm @ @ @

CIINO,
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(14)

.87. . Problem Figures :

o oo 000

G——_qE
b

0000

-y
® s

Answer Figures :

Q00| [¢]5) o|loocoo0o
[—  —
(1) (2) 4)
38. Problem Figures :
+ 0 =
0+ 0O D¢A
Yoo+
Answer Figures :
S A4
P AY ot A
P A4

1) (2) (3 (4)

3_9. Prﬁblem Figures :

T

Answer Figures :

T T

37. WW@W

.———io ]OODO
—1
——9
)/—Hr’—-”—” oooooj

(2) (3) (4)
38. FwEn SR :
B T Mﬂ
mmravﬁ_;
Pxﬁ.‘I‘F'&‘r.Sﬁ‘1~ EI1‘A—\

o (@ @ @

89. WHET MRl

T
uuL

(1) @ @ (4)

NTSE(Level-1) Exam. Nov. - 2016
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40,

41.

42,

Arrange the following words as per

dictionary.
(a) Live (b) Litter
(c) Little (d) Literary

(e) Living

(1) d,c,e,b,a
(2) d, bca,e
3) ¢, d b,a,e
(4) c,b,d, e, a

Which of the following number is
wrong in the series ?

3, 6, 10, 16, 21, 28
(1) 16
(2 10
3 21
(4) 28
'‘Sudha’' is shorter than 'Uma’, 'Neha'
is taller than 'Sudha’, 'Sudha’' is taller
than 'Uma' but shorter than 'Hema'.

'‘Uma’ is the.taller then 'Neha'. Who is
the tallest among them ?

(1) Hema
(2) Uma
(3) Sudha

(4) Neha

NTSE(Level-1) Exam. Nov. - 2016

40,

41.

42,

A

A9 By @ ogel B R 3 aEan
agfee #ifon |

(a) Live (b) Litter
(e) Little (d) Literary
(e) Living

(1) d,c,e,b,a

(2) d,b,c,a,e

(3) ¢,d,b,a, e
(4) ¢,b,d, e, a

A 7 gaEm § FH-41 T Tod & 7

3,6, 10, 16, 21, 28
) 16
2) 10
@ 21
) 28
g, S A O B e, gwr @ A ¢

gal, I | T 8, g A B ¥y
I, A6 ¥ B | HAY el P & 7

() B
(2) o
(3) gur
(4) -

P.T.O.
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i : (16)
s A Brget @l e
43. How many triangles are there in the 43 4 W{ Fﬁ:ﬂ
27

given figure ?

2 8

(1) 16 2 8 (1) 16
@) 14 (4) 12

(3 14 4) 12
Directions : (. No. 44 to 47) fder : (7 O 44 8 47)
. ; ffead &4 Agarn
In each of the following questions, numbers #7 RT e J;i? 2 T ?g
are wrilten according to some patierns, and 7w frd T & o ge

' car 71 &1 G TS T e

one number is missing shown by question e
d the missing number that 7T T g @ 77 ¢ g7

mark. Fin
replaces the question mark.
4 8 7 10 12 4 8 7 10 12
13 12 15 17 13 12 15 17
0 9 ? 14 ' o 9 ? 14
() 12 2) 10 (1) 12 @ 10
3) 21 (4) 26 (3) 21 4) 25
45. 45.
(1) 40 . (1) 40
(2) 48 (2) 48
(3) 30 - ' (3) 30
- (1) 24

4) 24

NTSE(Level—l) Exam. Nov.~ 2016
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(17) A

46, g} 19 17 8 123 2 [ 46. ﬂ\\/ 7 3
Y Y Y . | { |
4 10 2 .’ . 1A 3
| 1 10 @ 15 | (1y 10 @ 13
| (3) 20 1) 25 f @ 2 5 %
47. , T
E{& %7 9@“7 | 7>
(6<3) (5X4) (554) <4
|
(1) 35 (2 37 | (1 % 2 37
@) 45 (4) 47 1 3 45 5 &7
Directions : (Q. No. 48 & 49) | 2w : (7 de 48 77X 49,

. The questions are based on the following 7 I R e o i e w

diagrams study the diograms, carefully and | A 7 T 3 7 E o Aoy
answer the questions. i z

i
l
48. Which of the following represents |  48. Frfafss % § 5% 27 35 w2 &
boys, who are players but not =i = 3, A g oy s
singers ? | HE?
1) A (y A
@ H | @ H
(3) B : 3 B
4 F 4 F
NTSE(Level-1) Exam. Nov. - 2016 PT.O
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49.

50.

Which of the following represents
players, who are also singers but not
boys ?

) F ) E

3) G (4) H

'A' starts from a point and walks 5 km
north, then turns left and walks 3 km.
Then again turns left and walks 5 km.
In which direction he is going now ?

(1) North

(3) East

(2) South
(4) West

(18)

49,

60.

P 8 @ fred a0 T8 Ry
& g T ¥ @ T ¥ oy
aed 7
M F @ B
@) G 4) H
.A-@mﬁﬁﬁﬁﬁ'ﬁmﬁmﬁm
Y| q¢ ardf o gEC 3 Rl ¢
Ry gl Al geht 5 Al =T @1 o
a5 frg R & o @8 7

(2) @&

(4) 9i¥EH

(1) St

@) @

NTSE(Level-1) Exam. Nov. - 2016
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